
-Variability in system A
-No PV or SIV lines present
- B-

2000 3000
Rest Wavelength (Å)

4000 5000 6000 7000 8000 9000 10000
Observed Wavelength (Å)

0

1

2

F
lu

x 
(1

0 
   

er
g 

s 
 c

m
   

Å
  )

-1
6

-1
-2

-1

SDSS J113120.04+505615.0
z=2.00164

SDSS 2002-04-01 ∆t=0.0
BOSS 2013-05-01 ∆t=1348.5



1190 1200 1210
Rest Wavelength (Å)

3570 3580 3590 3600 3610 3620 3630 3640
Observed Wavelength (Å)

0

1

2

F
lu

x 
(1

0 
   

er
g 

s 
 c

m
   

Å
  )

-1
6

-1
-2

-1

SDSS J113120.04+505615.0
z=2.00164

SDSS 2002-04-01 ∆t=0.0
BOSS 2013-05-01 ∆t=1348.5



(A)
CIV

(B)
CIV

(A)
SiIV

(B)
SiIV

(A)
SiIV

(B)
SiIV

1400 1500
Rest Wavelength (Å)

4000 4100 4200 4300 4400 4500
Observed Wavelength (Å)

0

1

2

F
lu

x 
(1

0 
   

er
g 

s 
 c

m
   

Å
  )

-1
6

-1
-2

-1

SDSS J113120.04+505615.0
z=2.00164

SDSS 2002-04-01 ∆t=0.0
BOSS 2013-05-01 ∆t=1348.5



(A)
CIV

(B)
CIV

1460 1470 1480 1490 1500 1510 1520
Rest Wavelength (Å)

4400 4500
Observed Wavelength (Å)

0

1

2

F
lu

x 
(1

0 
   

er
g 

s 
 c

m
   

Å
  )

-1
6

-1
-2

-1

SDSS J113120.04+505615.0
z=2.00164

SDSS 2002-04-01 ∆t=0.0
BOSS 2013-05-01 ∆t=1348.5



(A)
SiIV

(B)
SiIV

(A)
SiIV

(B)
SiIV

1310 1320 1330 1340 1350 1360 1370
Rest Wavelength (Å)

4000 4100
Observed Wavelength (Å)

0

1

2

F
lu

x 
(1

0 
   

er
g 

s 
 c

m
   

Å
  )

-1
6

-1
-2

-1

SDSS J113120.04+505615.0
z=2.00164

SDSS 2002-04-01 ∆t=0.0
BOSS 2013-05-01 ∆t=1348.5


